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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.
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. Translate into Bengali (any one) : 6<1=6

IHFEW A (@-CFCA GFH)
a) EFMFI GROTHETE AT AEH |
TS TSI ST HEEEe |
b) & o YA UG T T o B HRA |

TS TATREqeas™ a1 et Fiel [9ed Teld o ||
. Amplify the idea (any one) : 6x1=6
TR F4 (- @R

a) WeWl SEHMI a1 Hehodred S |
b) wmRURhiE Tesfa wradtE: |

. Answer any one of the following : 12x1=12

@-@ET @I 4E Ted we

a) In what context the autumn 1s described in
Ramayana? Describe the images of the
following objects after your text :
HARRT:, 91, vdd:, gg:, U 2+10
TINRC (I 2CH *ER AT 207 7 AL
SRS S, A, 7S, 3 8 Afad (Ig Tl
e =4
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b) Depict a pen picture of the scene of the autumn
according to your text. 12
TG SEPTRACE *RIICER G (D AAba % 34|

6. Answer any one of the following : 12x1=12

SR CICINCE i [ ERC I

a) Discuss the characteristics of Hero Udayan's
character in drama swapnavasavadattam.
FAIPETEY A6 AFF Swacan i
taBTesfl e 391

b) Criticise the dramatic style of writing on
Bhasa's in your own words.
TIO 157 FeAICHE e SRR STICAS ¥4 |

Define and illustrate any one of the following :

6x1=6
SR T2 orERel faweeld 39 @R
miferl, sEafders
Or /3941
Scan and name the metre any two of the following:
3x2=6

g @ e i va9 Riose w03 v ey 399

a) Y% WE & I HIA @ 999 |

b) @i & w=n W g |

¢) 7 fygar #e 9 9 daa:

d) 3fd od Fg9 qa: e |

. Write short notes on (any two) : 3x2=6
wfEpe B @9 (@-@e qf%)

Ifd, 1%, TEE: wHE: |
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9. Answer any three of the following : 6x3=18
o @@ o aem Sen ms

a)

b)

10.1)

81/Sans.

http://www.wbstudy.com

What is “3reravefasa™’? Give two examples.
‘sTeruafaYH’ FEce & @R 4o Twege ws)
In how many senses &9 5™ is used ? Answer
with examples.

o & el T v’ @ IREE W ? Tniead W
In how many senses is the suffix ‘Aereffa’ used?
Give examples.

f& & o ‘weaeffa’ aom 277 Twiggd ws |
Discuss any two of the following :

@@l o [RAw e 79

(i) afg, (ii) =&, (i) @far, (iv) @O
Discuss any two of the following :

@ @ g e W 79

T, WA, Yo, HHEANE

Answer any three of the following : 1x3=3
o @@ b aom Sea ms ¢

a1 + GFHl TpadaeH |

% + Wl Sgae |

T + G TUHYET ThHIE, |

o + TiE A THA |

Distinguish the following pairs and make
sentence of any one :

Rl sweIcea el IRAeT IR (TANS

(®-@FET @) - 3x1=3
a) T - |
b) Fedl - AL
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